18 FE ¥ 4

NO1

( Rkt BAHERG)IXER )

5| A-B 2] = 53 #h 5 % $h %8 L Hi
11-04| RE7ZUO— b ZRAHE HEREER 10,800/ 10,800
2 [1:05| RR7U 77— ZRAHE FEIREER 2,900/ 13,700
3 [1:00 RR7 U7 —FZBARS HEREBED 10,500, 24,200
4 [1:11 | RR7 U7 —FZRARS HEREBER 10,600, 34,800
5 [1:12| RR7 U7 — b ZBARE HEREER 4,300, 39,100
6 [1-16| RR7 U7 —bZWRARE FEIREER 6,700/ 45,800
11116 RRT7 U7 —bZWMAHE HEREER 3,500| 49,300
8 [1:17| RR7 U7 — b ZBAHS HEREER 6,200/ 55,500
9 [1-18| RR7U 77— ZWAHE HEREER 3,010/ 58510
10[1-10| RR7U7—rZRAHE HEIREES 2,710| 61,220
111-19| RR7 U —hZRAHE HEREER 9,400 70,620
121-22| RR77—FZRA#HE HEREBER 6,700, 77,320
13124 RR7 U7 — b Z AR S HEREER 4,500, 81,820
14]1-25 RR7 V7 —bZBANE FEIREER 2,000/ 83,820
15 1-26 RR7 U7 —rZBARS HEREBED 2,200/ 86,020
16 |1-20| RR7V 77— ZRAHE HEREBER 5,000, 91,020
17/1-29 ;Eﬁ%%gi\wigﬁﬁﬁﬁi%%‘ A7 PR R— 7,720| 98,740
18/1:30 RR7 U —hZRA#E FEIREER 900| 99,640
19131 RR7 U7 —FZRAHE HEIREER 2,400| 102,040
20/2:01| RE7ZU—rZRAHE HEREER 1,700, 103,740
21|2:02| RE7U 77— Z WA E FEREMER 1,200 104,940
22|2:08 RR7V7T—FZIWMAHE HEREER 3,700 108,640
23|2:06 RRT7 U7 —bZWMAHE HEREER 500/ 109,140
24|2:07| RRT7 U7 —bZWMAHE EREMER 1,000, 110,140
25 |2:08| RRT7 U7 —FZWMAHE HEIREES 900/ 111,040
26 2:09| RRT7 V7 —FZIWMAHE HEREER 800 111,840
27|2:13| RE7 U —+ZWMARE HEREBER 800 112,640
28|2-14| RR7UO 7 —hZRAHE HEREER 1,000, 113,640
29215 RRT7 V7 —FZWMAHE HEREES 1,100] 114,740
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TR 18 F£E ¥

4 # NO2

( Rkt BALERH)IXHER )

5| A-B [ S 53 #h 5 * $h % L Hi
0 |2-16| RR7ZU 7 —rZRAHE HEREER 400 115,140
31219 RRT7 U7 — b ZWMAHE HEIREES 1,400| 116,540
32220 RRT7V7—FZWMAHE HEREER 200| 116,740
33|2:21| RET7U—FZWMARE HEREER 300/ 117,040
3222 RR7Z U —hZRAHE HEREER 300, 117,340
35|2-23| RRT7 U7 — b ZWMAHE HEIREES 300| 117,640
36 2-26 RRT7V7—FZIMAHE HEREER 360/ 118,000
37|2:27| RET7 U —+ZWMARE HEREBER 100| 118,100
38 |2:28 RR7ZU T —hZAHE HEREER 600, 118,700
39 |3:01| RRT7U 7 —bZWMARE HEIREES 300/ 119,000
40|3-05 RRT7 V7 —bZIWMAHE HEREER 100| 119,100
41306 RERT7 U7 —bZWMAHE HEREER 100, 119,200
2|3-07 RRT7U7—FZRAHE HEREER 100/ 119,300
43(3-08 RRT7V7—hZWMAHE HEIREES 100 119,400
4300 RRT7 U7 —bZIWMAHE HEREER 200| 119,600
45312 RRT7 U7 — b ZWMAHE HEREER 200/ 119,800
46 |3-16 RRT7U 77— ZRAHE HEREER 300, 120,100
47|3-19| RET7 U7 —bZWMAHE HEIREES 300| 120,400
48322 RRT7 U —bZIWMAHE HEREER 300| 120,700
49323 RERT7 U7 —bZWMAHE HEREER 100, 120,800
50 |3-26 RR7Z U7 —hZMAHE HEREER 900, 121,700
51/3-28| RE7Z U7 —hZRAHE FEIREER 300/ 122,000




BE: (@ B & B = Bl i3 # TR 18 R H 4

(BRE BALAERRNKER )
&8 A-8 2] = X #h 5 % i % Hi
1 |2-00 JEZEVINER (E AT BEFRBESERNK BRI NERISEREBES 1,500 1,500
2 |2-00 [RZEVNER (F1IAT) BEFEHEL TN B2 PRELALHES 1,500 3,000
3 |2-09 JEZEVNERIBET LR ESSMEE JREHXAX 950 3,950
4 |2:00 EZ N NERIBEREHESSMTBE JREHBZX 820 4,770
5 [2:00 EZBINERBEFERBESSMIBE JREHZX 950 5,720
6 |2:00 EZINFRBERRIBESS ML EE JREHZXK 950 6,670
7 |2-00 [EZEINERBEREHERSMIBE ELREXEH® 1,140 7,810
8 |2-00 [EZ EVNERIBEREHESSMBE ELREXEH® 980 8,790
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BB (@ E R ® = # T &

VR 18 AR B 4

(BiRE BAFERR)I|XEM

&5| A-A [ S X #h 5 *X th #® it
1]1-00|AE—K108~128% BEEHBRE 2,910 2,910
2 [1:10| BERIZCHSESRAYDBEIRE | BA£ERSIIBRESS 1,785 4,695
3 |1-20 |[BEESRHA - RIFEEF- Bt HEWEE 2,925 7,620
4 [1.22| AE—HIE—H1 AR XX/ Ry T4 xS 49,089 56,709
5 [1-24 REHE19F1 A5 RRHEFBETR 2,900/ 59,609
6 |1-24| AR#ZFFHE2007-15 BA#ZFHEL 4,179| 63,788
7 [1-30|BARFE1 A5 ASAK H 8 4,705 68,493
8 [1-30 BiM-ETAT—TR AHEEBHS 1,616/ 70,109
9 [1-31 REEBRBFFEHR1ED ERHEEMEGES 4,100, 74,209
10 |1-31 | IEAFI- BIRAR. B L BAKI1 A [LA S AR &)1 3B AT 6,290, 80,499
ERAMEE SE—REASREATHS .
11]2-00[17FEH fR )RR ER N BERR 31,890 112,389
12 |2-10| RGBS EHIE—HK RhEEEZ— 400/ 112,789
13|2-15 | EEFRELE R DEZM/NERD5ER] ABEEE 1,785/ 114,574
14|2-16 |{ERABAEE -IE—HEZESPHE mm | R LR EEER 320 114,894
15 |2-21| A=AV E—F2 A 5 XX/ — T4 T xS 38,757| 153,651
16 |2-26| h 2y bT—7 AHEEBHS 1,176| 154,827
17 |2-27| BAREFHE2007-25 B FHEL 4,179| 159,006
18|2-27 | BiHFTE2 8 & ASAKH 4,705/ 163,711
19| 2-28 |FRIE A T BIRIR. BRLEAKIM2AS [LA S AR &)1 3B AT 6,290, 170,001
20| 2-28 RIRHE19F 287 RRHEFBETR 2,900/ 172,901
21 |3-06 |IBHRAMBEEIE—RERBELEMEETR | X LR 2N BB ER 810 173,711
22 |3-07 | B ELHEARIE REUATER & )| 3R AR DRSS AR 3,000, 176,711
23|3-07 | B ERREARBIE R RAUATS R G| 3R AT EN 4RSS AT 500 177,211
24 |3-07 | EEE AMEH - EH XBEE 1,775| 178,986
25 |3-07 | E RIS AR 25 R BAERE 2,195 181,181
26 |3-08| VD THILR—FH RIBEBRMTR 3,040 184,221
27|3-08 |ERAMEE -JE— BB EERFHR fR I R RER /N BERR 6,290/ 190,511
28 |3-15| AL EFEHEF EH BALE HiEH 15,750 206,261
29 |3-22| AE—ADUA—H3 A5 FN/R—TAVT SISy 83,008 289,269




BB (4 & H B = #t

TR 18 4EE H 4 H NO2

(k% BARAERRIRXEH

#2| A-H ] ES b3 h % I | R it
_ RERARBLATHHGE)ER
30 [3-27 | NEHEELITHIOFDSAHRESE = 1,000/ 290,269
BEEEREDEFEFNEST
31 (327 BEELREOEELENETINRDSHE HHMEERS 8,000/ 298,269
32 |8-28| AF—1X 2007F1A~3A% XEESEHED 1,968 300,237
33 |3-30 |EA H ¥ - SREES B 5 ASAXHTE 4,705 304,942
3 |3-30 HABREFHEIA R BHAZEHR 4179 309,121
35 |3-30 RERFESA S HRHE P BB 2,900/ 312,021
FIEBTI- BEELR. B2
36 |3-30 |Bs 243 A% (LA SA TR |G 3R AR 7,300] 319,321




#B: %G

RERERE = B 5 b

TR 18 EE o4 M)

(k% BARAERRI|RXEH

)

&5| A-A [ S b3 h 5 *x O B R Hi
1 1-15| REBFARBEHRENRH K1 A S HHDOEHIR 493,605 493,605
2 |1-25 RARBHRESENEILER &) || X A& T BT ERME /& 17,500/ 511,105
3 120 REMEELRIBZE1HA298 S ERELIRESF 2,100| 513,205
4 |1-31 | REFARBEHRENR K1 A SLFEMS HMDOEENR 1,025,850| 1,539,055
5 [1-31|KEZ1—XERIK1 B9 A EE 192,000 1,731,055
6 [1:31 RERBHRESENTIVHIRIAK AR = il 21,000 1,752,055
7 |1-31|EENHE - FECEEBRSTSUHRIL A 2 45,000/ 1,797,055
8 |2.05| B IFXE= 1 —RXENRIH AFENRI 8,000| 1,805,055
9 |2:05 RBUBRHKEERNITHE ) || R 1& R EME /S 15,000/ 1,820,055
10|2-16| REBREHI S EREERNTHE ) || R 1% AR ERME /S 10,000/ 1,830,055
11|2-27|RE= 21— IR 28 % A 2 198,400| 2,028,455




BB 6 E 5 B = # T & T 18 fEE O 4 NOI

Rkt BAKERR)IXER )

&5| A-A 2] S *x % X HhoE| R Hi
1 1-10|GiRy P R -aE—F#R YD 6,384 6,384
2 |1-22| BHERV -FR—ILRV-FR)L )50 2,989 9,373
3 120 | A3 —FybBERERT1A D ASAHIF Y+ 4,483 13,856
4 [129 | E—1)—XF1 A% XN/ R—TAT SIS 30,240, 44,096
5 [1-31 AV F—FyMBFER1A S HEABETE®RASH 5460/ 49,556
6 [1-31|BEEBEM1AS HEABETE®RRSH 3,352| 52,908
7 [1:831 92X T774)L. OE—FRAKA3K YD 4,452 57,360
8 |1-31 [ h—LR—Sas BT F (EEBESHE1AS  |ESS 94,500 151,860
9 [1-31|aE—#RAN— T—UF %A &1 19,152| 171,012
RIS ESEEL, (25, RRE—, h5—aE—F i
10| 2-06 | #. HREEHRASH 96,782 267,794
1|2:27 [IR—LR—=SaVH T4 U (BEEHH) 2 A% |ESS 94,500 362,294
12 |2-27 | /U A—FYMERFB28 5 ASAHIR v 1,438 363,732
13|2-27| AE—Y—A¥1 F 5 FXIIR—TA T I 30,240 393,972
14|2-28|BEEBEEF2A 5 HEAEETE®RASH 5460| 399,432
15| 2:28 | A F—FRYNBEER2 A 5 RAABEEEH®RISH 3,215 402,647
16 | 2-28 | Fv/T—FSN )L AR T—IA %K E4 16,800 419,447
17/8-01|USBI5v a2 AE!)— LAOXK 3T 2,980| 422,427
18 |3-08| AE— KBS )50 4,251| 426,678
19|8-27 AV 3—FyMERMIA L ISV 2,756| 429,434
20327 AE—1)—R¥3AH Fv /=l TAT xSy 30,240 459,674
21|3-30| AE—HbF—-ENRIEH— L) v T4 %A e 56,952 516,626




HE: DA # & &= Bl & & Rk 18 GEE H 4

(BRE BAAERGIXER )
5| A-A 2] ESS X % *x h B R Hi
111-15| REBAEHEBEE1A 5 BEARIIF 270,000/ 270,000
2 |2-22 REBFEHERES2A 5 BRI F 270,000/ 540,000
3 |3-15| XEFEHREESIA S BARMIBF 270,000/ 810,000




